
 
 

 
 
 

 
  
 
 
 
 
 
 
 

 
 
 
 

 

MODELS 
PRICE CODE 

PVC CPVC 

PL520(2)SH-3-G3A 78-1972-P 78-1972-C 

PL780(3)SH-3-G3A 78-1973-P 78-1973-C 

PL1040(4)SH-3-G3A 78-1974-P 78-1974-C 

PL1300(5)SH-3-G3A 78-1975-P 78-1975-C 

Add 'V' to PCN for FKM 'O'-Rings 

NO. DESCRIPTION QTY PVC CPVC 

1 Vent valve  CPVC 1 33-0051 

2 Gauge guard assembly 0-60 PP 1 99-0732 

3 Screw 10-24x3/4" SS 6 11-0623 

4 Support plate 1/4"THK SS 1 88-3385 

5 Cover  1 88-3386-P 88-3386 

6 'O'-ring,  EPDM 2 22-0890 
   FKM  22-0890-V 

7 Swing bolt bracket  SS 1 88-3393-1 

8 Shell, 20"  1 88-3388-2P 88-3388-2C 
  30"  88-3388-3P 88-3388-3C 
  40"   88-3388-4P 88-3388-4C 
  50"  88-3388-5P 88-3388-5C 

9 Bolt 1/2-13x4-1/2" SS 12 11-0509 

10 Washer 1/2" SS 36 11-0124 

11 Latch  SS 1 88-3394 

12 Hold down bracket  PVC 1 88-3387-P 

13 Chamber base 1 88-7690-P 88-7690-C 

14 Pipe clamp 3" SS 1 11-3003-SS 

15 Bracket 18" SS 1 11-3008-18SS 

16 Bolt 3/8-16x2" SS 1 11-0379 

17 Washer  3/8" SS 32 11-0126 

18 Nut  3/8-16" SS 2 11-0105 

19 Bolt 3/8-16x1-1/4" SS 1 11-0372 

20 Corner bracket  SS 1 11-3007-SS 

21 Foot  PVC 4 88-3421-P 

22 Nut  1/2-13 SS 20 11-0106 

23 Base plate  PVC 1 88-7680-P 

24 Threaded stud 1/2-13x26-3/8" SS 4 11-2197 

25 Leg  PVC 4 88-3400-P 

26 Eye nut  1/2-13" SS 4 11-0858 

27 X-post, 20" PP 26 88-1602-PP 
  30" PP  88-1603-PP 
  40" PP  88-1604-PP 
  50" PP  88-1605-PP 

28 Swing bolt 1/2-13x5-3/4" SS 12 11-0474-1 

29 Washer 1/2" SS 12 11-0619 

30 Tee-handle  PP 12 11-0266 

31 Hose clamp 1 22-0911 

32 Tube 8'  1 22-0444 

33 Nyloc nut 3/8-16" SS 14 11-0519 

34 Bolt  3/8-16x1-5/8" SS 14 11-0444-1 

35 Lock washer 1/2" SS 16 11-0343 

36 Hold-down cap  CPVC 26 77-1590 

37 Filter cartridge 26 See Bulletin M-109 

38 Outlet  1 88-7607-P 88-7607-C 

39 'O'-ring  EPDM 2 22-0359 
    FKM  22-0359-V 

Product Bulletin: F-304 

Operation and Service Guide: O-0585 

 

PARTS LIST 

P-7776 
08/23/16 
 
 

Mega-Flo Cartridge | PVC/CPVC Chamber 
® 

© 2016 Serfilco Ltd, All Right Reserved. 

 

2900 MacArthur Blvd.   Northbrook, IL. USA 60062   WWW.SERFILCO.COM   (800) 323-5431  

file://///engineering/contactus.aspx
/pdfs/bulletins/F-304.pdf
/pdfs/liturature/O-0585.pdf
file://///engineering/contactus.aspx
file://///engineering/contactus.aspx
http://www.serfilco.com/
file://///engineering/contactus.aspx
file://///engineering/contactus.aspx
file://///engineering/contactus.aspx
file://///engineering/contactus.aspx
file://///engineering/contactus.aspx
file://///engineering/contactus.aspx
file://///engineering/contactus.aspx
http://www.serfilco.com/
file://///engineering/contactus.aspx

